Fast

Burst
30; = I8l
25=— —

o 20 =— —— B
Sas— T E =
2285 15 B=— —
2T 0= —=

5 — B,
O p—

MMS4_FP|
Electron
L2
no data
omni
[ev]
o o o
N w S

MMS4_FPI
lon L2

IHIIII: { II I‘IIIIIII IllIIII Il II I I IIIIII | II|III IIIIIIIIIIIIII IIIII|II’I II)I IIII I IlIIIIII I |I|I||II IIIIIII|IIIII III III Il 1 I II (| IIII . I|| III II 111 | 1 I"|I Il III | ”||I| IIII

I II II | III I I | II I | I|III |

ALY ot o 0 o |I|||| IlI'IuIn {il ||I||||||||||||I IIIWMII ||inm|mmmw g Lt T P A T Idm vl il IIIIIIIIIIIIIIIII ||I|||||||I||||||I1|ﬁ|ﬁIIL|I|ﬂ|H|inWIH|

|| p II IH” I " fif I|||||| IIIIIII I|II | |||| |||| IIII| i ” ||| II I I||'|| |I II|III I||| il || i III| |I [ ! III Il
, III| | ||I| |||H” I||I:I I:||I| |I|””I / ! |”” IIII N T II|I| | ’I|I|| I|| | v II

mwnwmwhmIﬁy WT*IHTTM Lt i

IIIII IIII II I |III | |
|

II.IIIII RETHT: TR

I
mwwﬁ”dl | i | TN 'II.r",nfﬂ
:
I
I

III [[R} II I I III [ [ Y .| I
I I | III | II I I I I 11 | (I
l II | I I f | ||II II | I [ II L | | II | I| | | |
I | | 1
|
| | |
L IIII [ III II I IIIIIIIII III I I II II III III | IIII II IIIII IIIIIIIIII III I I 'II IIIIIIIII | II I [ | N | III IIIIIIIIIIII III III I I II | III III | I | IIIII II II | | II II Ll H I08/>\
P IIII | III I 1 11T} III III IIIIIII I|I | III II IIIIIII l I ‘ III | IIII ‘I III”I I (NI III I II I |MI I 111} III 1 I 1I | II | III I | | I I II II I I I || I LK) III | I IIIII I I IIIII 111 II|II I|II III IIII I"IIII I ” I ©
3 Il I I | [N INN I I [yl I I I I I 1 I 1 I [l
I I [l I | I II II | Nl I III III IIII II I | II II I II | | I Il I
Ih III II|I|I L II III | IIIII IIII |I | [ I | I | II ' I I IIIIII 1 | [ | III | | lI I II | | I| I I|I III ||||||I|I|I||II$||rIII|| III II II”|I|II IIIIIII llIlI IIII|||| II 1}
III ¥ II | | | | II 11 | ” 0 III il III Il
| | | | | | | II | | | | | I | Il I |
| | [ | | | | | I | | | II | | II II II [ | |
| | Il | 11 | 1 | | |
------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------- — DIS
il it ieeiiiiiiieiiiiieiae- s B 'S
) = He+
400 —=— Vy
5— 200——
$$+o‘< — o
Sar>¢e = i
ST X< — S
o 0= n
—400 = c
GSMX [R.] —6.0812 —-5.9946 -5.9075 —5.8200 —5.7319 —5.6434 —5.5545 —5.4650 —-5.3750 —5.2846 -5.1936 —-5.1021 ~5.0101
GSMY [R¢] —10.6005 —10.5346 —~10.4679 —~10.4003 —~10.3318 —10.2625 —10.1922 —10.1211 —10.0490 —9.9760 —9.9020 -9.8270 -9.7510
GSMZ [R;] 1.3208 1.3131 1.3058 1.2990 1.0926 1.0866 1.2810 1.2757 1.2707 1.2660 1.2616 1.2573 1.2533
hhmm 0000 0005 0010 0015 0020 0025 0030 0035 0040 0045 0050 0055 0100

2018 Jun 19
HPCA_ION v4.1.5, v4.1.6 HPCA_MOMS v4.1.5, v4.1.6



